Explorer Kit

EN
FR
ES
PT
DE

Assembling Manual
Manuel de montage
Manual de montaje
Manual de montagem

Bauanleitung

makeblock

RU Pykosoactso rno cbopke
IT. Manuale di assemblaggio
LV Montazas celvedis

Mainboard mCore Introduction | Présentation de la carte mere mCore | Introduccion a la placa base mCore |
Introdug&o a placa principal mCore | Hauptplatine mCore Einfihrung| BeogHble cBeaeHvist o rmaBHou nnare

mCore | Galvenas pamatplates mCore ievads

G
.

(5T @la)

can
hl13

~
000000

@ By =

Eﬂi
|
=1
g igh

[
=
e

ol ] { [
s,
000000

¥e)

>——+— 6

=}

i

10

O) *

1
13 14 15

1 AA Battery Holder Interface | Interface de support de pile AA | Interfaz del soporte para pilas AA | Interface de suporte para pilhas AA | AA Batteriehalter-
Schnittstelle | CoeanHeHvie aepxxarens ans akkymynsitopa AA | AA bateriju turétaja savienojums

2 3.7V Lithium Battery Interface | Interface de pile au lithium 3,7 V| Interfaz de la bateria de litio de 3,7 V/ | Interface de bateria de litio de 3,7 V| 3,7V Lithium-
Batterie-Schnittstelle | CoeauHermre anst nutueBoro akkymyrisitopa 3,7 B | ISavienojums 3,7 V litija akumulatoram

3 Reset | Bouton Réinitialiser | Reinicio | Reiniciar | Zuriicksetzen | C6poc | Reset | Atiestati$anas poga

4 Power Switch | Bouton ON/OFF | Botén de encendido/apagado | Interruptor de alimentagéo | Netzschalter | Boikntouarent nutanms | leslégéanas/izslégsanas

poga

5] USB Connector | Connecteur USB | Conector USB | Conector USB | USB-Anschluss | USB-pasbem | Connettore USB | USB ligzda

6 Motor Interface | Interface moteur | Interfaz del motor | Interface do motor | Motor-Schnitstelle | HTepdeiic auratens | Motora saskame

7.8 RJ25 Port| Port RI25 | Puerto RJ25 | Porta RJ25 | RJ25-Port | Mopt RJ25 | RJ25 ligzda

9,10 RGB LED | Témoin LED RVB | LED RGB | LED RGB | RGB-LED | RGB-caetoavon | RGB LED

11 Buzzer | Indicateur sonore | Timbre | Campainha | Summer | 3ymmep | Pikstulis

12  Button | Bouton | Botén | Botdo | Schaltfiédche | KHonka | Poga

13 Infrared Receiver | Récepteur infrarouge | Receptor de infrarmojos | Recetor de infravermelhos | Infrarotempfénger | UkchpakpacksiiifipuemHui ) Infrasarkanais

uztvergjs

14  Light Sensor | Capteur lumineux | Sensor de luz | Sensor de luz | Lichtsensor | CeeToBoit aarivk | Gaismas sensors

15 Infrared Transmitter | Emetteur infrarouge | Transmisor de infrarrojos | Transmissor de infravermelhos | Infrarotsender| ViHchpakpacHbiit nepesatyumk |

Infrasarkanais raiditajs

4

3

Parts List | Liste des pieces détachées | Listado de piezas | Lista de pegas | Teileliste | Cncok aetanen |

Detalu saraksts

<|<>‘0

C@)%

NS

M4*25mm Brass Stud | Riveten

Mainboard mCore | Carte mére
mCore | Placa base mCore |
Placa principal mCore |
Hauptplatine mCore | MasHas
nnara mCore | Galvena
pamatplate mCore

M
LED Matrix | Matrice LED | Matriz
de LED | Matriz LED | LED-Matrix |
CeetoavoaHas marpuua | LED
Matrica

e

Screwdriver | Toumevis |
Destomillador | Chave de fendas
| Schraubendreher | OTeeprka |
Cacciavite | Skrivgriezis

laiton M4*25mm | Tachuela de laton

M4*25mm | Pino de latdo M4*25mm |
M4*25-mm-Stiftschraube | IatyHHas
wneka M4 * 25mm | Misina ieliktnis

M4*25mm

Infrared Remote Controller | Télécommande infrarouge | Mando a distancia infrarrojo | ControladerremotodV

M

Chassis | Chassis | Chasis |
Chassis | Fahrwerk | LLlaccu |
Telaio | Sasija

Motor | Moteur | Motor | Motor |
Motor | isuratens | Motore |
Motors

(&Qﬁ

RJ25 Cable | Cable RJ25 |
Cable RJ25 | Cabo RJ25 |
RJ25-Kabel | Kabers RJ25 |
Cavo RJ25 | RJ25 kabelis

@ %

M4*16mm Brass Stud | Riveten

laiton M4*16mm | Tachuela de laton

M4*16mm | Pino de latdo M4*16mm |
M4*16-mm-Stiftschraube | MatyHHas

wnbka M4*16mm | Misina ieliktnis
M4*16mm |

M

Ultrasonic Sensor | Capteur.
ultrasons | Sensor ultrasénico |
Sensor ultrassonico |
Ultraschallsensor |

ower Sensor |
apteur de suivi de ligne | Sensor
de seguimiento de linea | Sensor
de seguidor de linha |
Linienverfolger-Sensor |
JHeiHbIA paTuuk | Linearais
sensors

M

Mini Wheel | Mini roue |
Minirrueda | Minirroda | Mini-Rad
| Munm-koneco | Mini rotella |
Mini ritenis

Wheel | Roue | Rueda | Roda |
Rad | Koneco | Ruota | Ritenis

RN
1) \ 1)

USB Cablel | Cable USB | Bracket 3*3*120° | Support
Cable USB | Cabo USB | 3'3*120° | Soporte 3*3*120°|
USB-Kabel | KaGenb USB | Estrutura para fixagdo 3*3*120° |
Cavo USB | USB kabelis Halterung 3*3*120° | KpoHLuTeiiH
3*3*120° | Kronsteins 3*3*120°

©) @ @

M3*25mm Screw | Vis M4*14mm Screw | Vis
M3*25mm | Tomillo M3*25mm | M4*14mm | Tomillo M4*14 |
Parafuso M3*25 mm | Parafuso M4*14mm |
M3*25-mm-Schraube | Bust M3*25 M4*14-mm-Schraube | BuHt
MM | Skrave 3*25mm M4*14mm | Skrave M4*14mm

Me | Infrarot-Fembedienung | VIK-nynbt grctaHumoHHoro ynpaenenus | IR talvadibas pults

@) %

M2.2*9mm Self-drilling
Screw | Vis auto-foreuse

M2.2*9mm | Tomillo autorroscante

M2.2*9mm | Parafuso
autoatarraxante M2.2*9mm |
M2.2*9-mm-selbstbohrende

Schraube | Camopes M2.2*9wm |

Pasurbjosa skrave M2.2*9mm

(10) @

Plastic Spacer 4*7*3 |
Entretoise en plastique 4*7*3 |
Separador de plastico 4*7*3 |
Espacador de plastico 4*7*3 |
Kunststoffdistanzscheibe 4*7*3 |

D
® @T’

M3 Nut | Ecrou M3 | Tuerca M3
| Porca M3 | M3 Mutter | Faiika
M3 | Uzgrieznis M3

®) %

Plastic Rivet | Rivet en
plastique | Remache de plastico |
Rebite de plastico |
Kunststoffniete | Mnactvkosas
3aknenka | Plastmasas kniede

lMnactukosas npoctaeka 4*7*3 |
Plastmasas starplika 4*7*3

(25) G @)

M4*8mm Screw | Vis
M4*8mm | Tornillo M4*8mm |

Velcro sticker pad | Attaches
auto-agrippantes | Velcro | Velcro

Parafuso M4*8mm | | Klettverschluss |
M4*8-mm-Schraube | BuHT Bacrexka-nvnyuka | Velcro
M4*8mm | Skriive M4*8mm aizdare

M4 Nut | Ecrou M4 | Tuerca M4
| Porca M4 | Mutter M4 | LLiaiGa
M4 | Paplaksne M4

M

AA Battery Holder | Support
de pile AA | Soporte para pilas
AA | Suporte para pilhas AA |
AA-Batteriehalter | [eparerns
akkymynsitopa AA | AA Bateriju
turétajs

(1)

Infrared Remote Controller |
Télécommande infrarouge |
Mando a distancia infrarrojo |
Controlador remoto IV Me |
Infrarot-Fembedienung | MK-nynist
AVICTaHLIMOHHOTO yripaBneHns | IR
talvadibas pults

( 0)%

Plastic Spacer 4*7*10 |
Entretoise en plastique 4*7*10 |
Separador de plastico 4*7*10 |
Espagador de plastico 4*7*10 |
Kunststoffdistanzscheibe 4*7*10
| MnactkoBasi npocTaBka,
4710 | Plastmasas st

4710

Line-follower Map | Carte de
suivi de ligne | Mapa de
seguimiento de linea | Mapa de
seguidor de linha |
Linienverfolger-Karte | Kapra

Use of Screwdriver | Utilisationfdu toumevis | Uso del destomillador | UtilizagZo da chave de fendas |
Verwendung des Schraubendrehefs | Vicnons3oBanve otBeptky | Skriivgrieza zimantoSana

Karte, lai sekotu finijai

M

Mini Screwdriver |
Mini tournevis |

Mini destomnillador |
Mini chave de fendas |
Mini-Schraubenzieher |
MuHu-otBepTKa |
Mini-skravgriezis

151 CIE[0BaHMS! 110 SIMHN | |

h Part 15 of the FCC Rules. Operation is subject to the following two conditions:
ot cause harmful interference, and

Buttons instructions | Boutons - instructions | Instrucciones de botones | Instrugdes dos botdes |Hinweise zu Tasten |

WHcTpykuym no kHonkam | Pults podzinu instrukcija

1 Obstacle avoidance dee | Mode évitement d'obstacles | Modo de evitacion de obstéculos | Modo de contomo de obstaculos | Hindemisvermeidungsmodus | Pesxxwiv
obxona npenstcraui | Skérslu novérSanas rezims

2 Manualeontrol mode | Mode de commande manuelle | Modo de control manual | Modo de controlo manual | Manueller Steuerungsmodus | Pexwim pyyHoro

ynpaeneHus|Manualas vadibas rezims

3 Line-followingmode | Mode suivi de ligne | Modo de seguimiento de linea | Modo de seguimento de linha | Linienfolgemodus | Pexwim asvxerms no nuHi | Linjias

brauk$anas rezims

o N o o S

Move forward | Avancer | Avanzar | Avangar | Vorwarts | [isiwkerue Briepes | Kusfiba uz priekSu

Tum left | Toumer & gauche | Girar a la izquierda | Virar a esquerda | Nach links | Mosoport Haneso | Pagrieziens pa kreisi
Tum right | Tourner & droite | Girar a la derecha | Virar a direita | Nach rechts | Moopot Hanpago | Pagrieziens pa labi
Move backward | Reculer | Retroceder | Retroceder | Riickwérts | OeiwkeHve Hasap | Kustiba atpakal gaita

Speed level dial | Molette de vitesse | Indicador de nivel de velocidad | Mostrador de velocidade | Geschwindigkeitswéhler | Perynsitop ckopoctu | Atruma regulators

Battery Installation Guide | Guide d'installation des piles | Guia de instalacion de la pila | Guia de instalagéo da bateria |
Anleitung zum Einsetzen der Batterie | PykoBoacTso no ycraHoBke 6arapev | Bateriju uzstadiSanas rokasgramata

@ Pull the battery case | Enlevez le compartiment a piles | Retire la carcasa de la pila |
Retirar a caixa da bateria | Am Batteriefach ziehen | BbitsiHuTe otcek ansi 6atapen |

© Keep pressing | Maintenez une pression | Mantenga presionado | Manter pressionado |
Gedriickt halten | HaxxvuTe 1 nepxure | Nospiediet un turiet

lzvelciet bateriju turétaju

CR2025

neietilpst)

(not included in the package) | (non incluses,dans le colis) | (no
incluidas en el paquete) | (ndo incluidas na embalagem) | (nichtim
Lieferumfang enthalten) | (He BxoasT B KOMAREKT) | (komplekta

: Changes or modifications not expressly approved by the party responsible for compliance could void the user's

y to operate the equipment.

: This equipment has been tested and found to comply with the limits for a Class B digital device, pursuant to Part 15
of the FCC Rules. These limits are designed to provide reasonable protection against harmful interference in a residential

s installation. This equipment generates uses and can radiate radio frequency energy and, if not installed and used in
accordance with the instructions, may cause harmful interference to radio communications. However, there is no guarantee
that interference will not occur in a particular installation. If this equipment does cause harmful interference to radio or
television reception, which can be determined by turning the equipment off and on, the user is encouraged to try to correct
the interference by one or more of the following measures:
-‘Reorient or relocate the receiving antenna.
‘Increase the separation between the equipment and receiver.
-Connect the equipment into an outlet on a circuit different from that to which the receiver is connected.
-Consult the dealer or an experienced radio/TV technician for help.

FCC Radiation Exposure Statement:

This equipment complies with FCC radiation exposure limits set forth for an uncontrolled environment.This equipment
should be installed and operated with minimum distance 20cm between the radiator & your body.

IC STATEMENT:

This device complies with Industry Canada licence-exempt RSS standard(s). Operation is subject to the following two
conditions:
(1) this device may not cause interference, and

(2) this device must accept any interference, including interference that may cause undesired
Le présent appareil est conforme aux CNR d'Industrie Canada applicables aux apgareils
L'exploitation est autorisée aux deux conditions suivantes :

(1) l'appareil nedoit pas produire de brouillage, et

(2) I'utilisateur de I'appareil doit accepter tout brouillage radioélectrique subi, méme brouillage est susceptible d'en

compromettre le fonctionnement.



Building Instructions | Instructions de montage | Instrucciones de montaje Jdnstrugdes deieonstrugéo
| Bauanleitungen | ViHcTpykumm no cbopke | Montazas instrukcijas

11 Q]bﬂﬂﬂﬂﬂﬂmlﬂ]lﬂﬂb M2.2x9mm (2)

\NY
‘ 11 G]I]Ill]lllllll]l]ll]lll]lll]lll]l]ll]lll]l M3*25mm (2)

@ m3(2

)

stalacija Bonbuie copm | Altre Forme | Citas formas

Para obter mais informagdes, visite | Fiir weitere Informationen besuchen Sie bitte |

https:/Avww.makeblock.com/

@ Motor (Right) | Moteur (droit) | Motor (derecho) |
Motor (direita) | Motor (rechts) | JBuratens
(npaBbi) | Motors (labais)

@ Motor (Left) | Moteur (gauche) | Motor (izquierdo)
| Motor (esquerda) | Motor (links) | iBuratens 2
(neBebiit) | Motors (kreisais)

More Shapes | Plus de formes | mas formas | mais formas | Mehr Formen

For more information, please visit | Pour plus dinformations, consulte le site | Para mas informacion, visi

[ins nonyyeHvs nogpobHbIX cBeaeHni nocetute Beb-cait | Apmekigjiet vietni, lai iegttu stkaku i

11 M4*8mm (4)

Four AA batteries (not included in the package) | Quatre piles AA
(non incluses dans le colis) | Cuatro pilas AA (no incluidas en el
paquete) | Quatro pilhas AA (n&o incluidas na embalagem) | Vier
AA-Batterien (nicht im Lieferumfang enthalten) | Yetbipe
akkymyrisitopa AA (He BxoasT B kommnekT) | Cetras baterijas AA
(komplekta nietilpst)

Ce

DECLARATION OF CONFORMITY | DECLARATION DE CONFORMITE | DECLARACION DE CONFORMIDAD |
DECLARAGAO DE CONFORMIDADE | KONFORMITATSERKLARUNG | 3ASBJTIEHVE O COOTBETCTBUM |
ATBILSTIBAS DEKLARACIJA

Declaration of conformity Hereby, Makeblock Co., Ltd., declares that this product is in compliance with the essential requirements and other relevant
provisions of Directive RED 2014/53/EU and the RoHS directive 2011/65/EU. | Déclaration de conformité Makeblock Co., Ltd. déclare par la présente que ce
produite est conforme aux principales exigences et autres dispositions pertinentes de la directive Directive RED 2014/53/UE et de la directive RoHS
2011/65/UE. | Declaracion de conformidad. Makeblock Co. Ltd. declara por la presente que este producto cumple los requisitos esenciales y otras
disposiciones pertinentes de la directiva RED 2014/53/UE y la directiva RoHS 2011/65/UE. | Declaragéo de conformidade. Pelo presente, a Makeblock Co.,
Ltd., declara que este produto esta em conformidade com os requisitos essenciais e outras disposicdes relevantes da Diretiva RED 2014/53/UE eda
Diretiva RoHS 2011/65/UE. | Konformitatserklarung Hiermit erklart Makeblock Co., Ltd., dass dieses Produkt die grundlegenden Anforderungen und'anderen
relevanten Vorschriften der Richtlinie RED 2014/53/EU und der RoHS-Richtlinie 2011/65/EU einhélt. | 3asiBneHve o cootseTcTBIW. HacToALLMM KOMNaHUS
Makeblock Co., Ltd. 3asBrsieT, YTo AaHHbIV MPOAYKT COOTBETCTBYET OCHOBHBLIM TPEGOBaHMSIM 1 APYTVIM COOTBETCTBYIOLLIMM MonoxeHUsaM dupextvebl RED
2014/53/EU n pupektuebl RoHS 2011/65/EU. | Atbilstibas deklaracija Hereby, Makeblock Co., Ltd. apliecina, ka $is raZojums atbilst Direktivas 2014/53/ES:
UN RoHS Direktivas 2011/65/ES pamatprasibam un citiem attiecigajiem noteikumiem.

WARNING | ATTENTION | ADVERTENCIA | AVISO | WARNUNG | Mpeaynpesxaetiie | UZMANIBU

Non-rechargeable batteries are not to be recharged. | Les piles non rechargeables ne doivent pas étre rechargées. | Las pilas no recargables no se deben
recargar. | As pilhas ndo recarregéveis ndo devem ser recarregadas. | Nicht aufladbare Batterien diirfen nicht wiederaufgeladen werden. | 3anpeLuaetcst
3apsbkaTb He NpeaHasHa4eHHbIe Ans 3Toro (0aHopasoBble) akkymynisitopsl. | Neuzladéjiet $Sim nolikam neparedzétas (vienreizéjas) baterijas.

Rechargeable batteries are to be removed from the toy before being charged. | Les piles rechargeables doivent étre retirées du jouet avant d'étre chargées. |
Las pilas recargables deben extraerse del juguete antes de cargarse. | As pilhas recarregaveis devem ser retiradas do brinquedo antes de serem
carregadas. | Wiederaufladbare Akkus miissen vor dem Aufladen aus dem Spielzeug entfernt werden. | MepesapsbkaeMble akkyMynsTopbl HEOGX0AUMO
V3BreKaTb 13 UrpyLLIKK Ans 3apsiaku. | Le batterie ricaricabili devono essere tolte dal giocattolo prima di essere ricaricate. | Pirms uzlades no rotallietas
jaiznem uzladéjamas baterijas.

Rechargeable batteries are only to be charged under adult supervision. | Les piles rechargeables doivent étre chargées uniquement sous la supervision d'un
adulte. | Las pilas recargables solo se deben recargar bajo la supervision de una persona adulta. | As pilhas recarregaveis apenas devem ser carregadas
sob a supervisao de um adulto. | Wiederaufladbare Batterien dirfen nur unter Aufsicht von Erwachsenen aufgeladen werden. | 3apsinka nepesapsbkaembix
aKKyMYTSITOPOB AOMKHAa MPOV3BOANTCS TOMNBKO MOZ, KOHTPONeM B3pachbix: | Uzladéjamas baterijas drikst uzladét tikai pieauguso uzraudziba.

Batteries are to be inserted with the correct palarity. | Réspectez la polarité lors de linsertion des piles. | Las pilas deben introducirse con la polaridad correcta.
| As pilhas devem ser inseridas com a polaridade eorretau| Beim Einlegen der Batterien stets auf die richtige Polaritit achten. | Mpu ycraHoske
aKkKyMynsTOpoB crieflyeT cobrioaaTe nonsipHecTs. [ Uzstadot baterijas, ieverojiet polaritati.

Exhausted batteries are to be removed fromithe toy. | Les piles a plat doivent étre retirées du jouet. | Se debe refirar las pilas agotadas del juguete. | As pilhas
gastas devem ser retiradas do brinquede. | Verbrauchte Batterien miissen aus dem Spielzeug entfernt werden. | AkkyMyrnsiTopbl C UCTEKLLIMM CPOKOM
TofHOCTV CrieayeT ynanuib U3 urpyLuku. | Baterijas, kuram beidzies deriguma termins, ir jaiznem no rotallietas.

The supply terminals are notto be short-circuited. | Les bomes d'alimentation ne doivent pas étre court-circuitées. | No se debe cortocircuitar los terminales
de alimentaciény| Os temminais de alimentagio ndo devem ser colocados em curto-circuito. | Die Versorgungsklemmen diirfen nicht kurzgeschlossen
werden. | He nonyckaiite KopoTKoro 3amblkaHis Ha kremmax nutanusi. | Nepielaujiet issavienojumu starp plusa un minusa spailém.

Different types of batteries or new and used batteries are not to be mixed. | Il ne faut pas mélanger différents types de pile ou des piles neuves et usagées. |
No'se deben mezclar distintos tipos de pila ni pilas nuevas y usadas. | Nao devem ser misturados diferentes tipos de pilhas ou pilhas novas e usadas. |
Niemals verschiedene Batterietypen zusammen verwenden oder neue mit alten vermischen. | He cneayet onHoBpeMeHHO 1Cronb3oBaTh akkyMyrIsiTopb!
Pasnu4HOro TUNa, @ Takke HOBbIE U paHee UCTonb3oBaBLLMecs akkymynisitopsl. | Nelietojiet vienlaikus dazada veida akumulatorus vai jaunas un lietotas
baterijas.

N

m M e

1:1 M4*14 mm (2)

% 4*7*10 mm (2)

- Risk of explosion if battery is replaced by an incorrect type. Dispose of used batteries according to the instruction. | En cas d'utilisation de pile non confirme, il
existe un risgue d'explosion. Mettez les piles au rebut conformément aux instructions. | Si se sustituye una pila por otra de un tipo incorrecto, existe riesgo de
explosién. Elimine las pilas usadas de acuerdo con las instrucciones. | Existe o risco de exploséo se a pilha for substituida por uma do tipo incorreto. Elimine
as pilhas usadas de acordo com as instrugdes. | Es besteht ein Explosionsrisiko, wenn die Batterie durch einen falschen Batterietyp ersetzt wird. Entsorgen
Sie verbrauchte Batterien gemal den Anweisungen.| Mpyu ycTaHOBKe akkyMynsTopa HEKOPPEKTHOTO TVNa CYLLIECTBYET PUCK B3pbIBa. BhilLieaiume 13 cTpost
aKKyMYNSTOPb! YTUIM3VPYIATE B COOTBETCTBIM C UHCTPYKLMeEIA. | Pastav eksplozijas risks, ja akumulators tiek aizstats ar nepareizu tipu. Atbrivojieties no
ilietotajiem akumulatoriem atbilstosi instrukcijai.

« This product contains a Button or Coin Cell Battery. A swallowed Button or Coin Cell Battery can cause internal chemical burns in as little as
two hours and lead to death. Dispose of used batteries immediately. Keep new and used batteries away from children. If you think batteries
might have been swallowed or placed inside any part of the body, seek immediate medical attention.

Ce produit contient une pile bouton. Avaler la pile bouton peut provoquer des brilures chimiques internes en deux heures a peine, et entrainer
la mort. Jetez immédiatement les piles usagées. Gardez les piles (neuves ou usagées) hors de la portée des enfants. Si vous pensez que les
piles ont pu étre avalées ou ont pu se retrouver dans n'importe quelle partie du corps, consultez immédiatement un médecin.

Este producto contiene una Pila de botén o moneda. La ingesta de una pila de botén o moneda puede causar quemaduras quimicas internas
en tan solo dos horas y puede causar la muerte. Deseche las pilas usadas de inmediato. Mantenga las pilas nuevas y usadas lejos del
alcance de los nifios. Si cree que alguien ha ingerido pilas o que han ingresado en alguna parte del cuerpo, busque atencién médica
inmediata.

Este produto contém uma bateria tipo botdo ou moeda. Uma bateria tipo botdo ou moeda, se ingerida, pode causar queimaduras quimicas
internas em menos de duas horas e levar a vitima a morte. Deve descartar baterias usadas imediatamente. Deve manter baterias novas e
usadas fora do alcance de criangas. Se suspeitar que baterias tenham sido engolidas ou colocadas em qualquer parte do corpo, deve
procurar atendimento médico imediatamente.

Dieses Produkt ist mit einer Knopf- oder Knopfzellenbatterie ausgestattet. Knopf- oder Knopfzellenbatterien kénnen bei Verschlucken
schwerwiegende innere chemische Verbrennungen verursachen und innerhalb von zwei Stunden zum Tod fiihren. Gebrauchte Batterien sind
umgehend zu entsorgen. Neue und gebrauchte Batterien sind auRerhalb der Reichweite von Kindern aufzubewahren. Bei Verdacht des
Verschluckens oder Einfiihrens von Batterien in ein Korperteil ist sofort ein Arzt zu Rate zu ziehen.

[aHHoe u3aenue coaepxuT Nnockyio kpyrnyio 6atapeto. B cnyyae npornateiBaHus Takas 6atapes cnocobHa Bbi3BaTb BHYTPEHHWE
XUMUYECKME OXOTW B TEUEHMe [IBYX YacOB, YTO MOXET MPUBECTM K NeTanbHOMy Ucxoay. Mcnonb3oBaHHble GaTapen crieayeT HeMeaneHHo
YTUNU3MpoBaTh. HoBbIE 1 MCNONb30BaHHbIE GaTapen AOMKHbLI XPaHUTLCS B HEAOCTYNHOM ANs eTeli MecTe. Ecnv Bbl nofjo3pesaeTe, YTO
KTO-TO npornoTun 6aTtapeto Nnm oHa WHeLIM 06pa3oM okasanack BHYTPU Tena, HemeaneHHo 06paTUTeCh 3a MeANLIMHCKOI NOMOLLbIO.

Sis produkts satur apaju plakanu akumulatoru. Norijot, $ads akumulators divu stundu laika var izraisit iek&&ju kimisku apdegumu, kas var bit
letals. Izlietotas baterijas nekavéjoties jaiznicina. Glabajiet jaunas un lietotas baterijas bérniem nepieejama vieta. Ja jums ir aizdomas, ka
akumulators ir norits vai ka citadi iesprostots kermena iekSieng, nekavéjoties meklgjiet medicinisko palidzibu.

Makeblock Co., Ltd.

Address: 4th Floor, Building C3, Nanshan iPark, No:1001 Xueyuan Avenue, Nanshan District, Shenzhen, Guangdong Province, China
Technical support: support@makeblock.¢om

www.makeblock.com






